N°1
CAR PARC
COVERAGE

GUARANTEE

.
3

YEARS

FI-ES-4675 FI-ES-4676
C M12x1.5 —=12/96 | D M12x1.5 —12/96
X 2.0 Turbo X 2.0 Turbo
K150067 O FI-ES-2512
co C 2 M14x1.5 01/97—

FI-SB-6627

@ 2 923mm

AL-SB-6629
(=)

FI-LS-0441

AL-AX-1681
C 2 M12x1.5 —12/96
3 X 2.0 Turbo
A\ = OF LY FI-AX-1461
C 2 M14x1.5 01/97—

FI-SB-1585
C O @21mm FI-SB-1587|FI-SB-1579

C Z21mm | D @ 21mm

AL-WP-7527 | AL-WP-7526
& Cast Iron 2 Cast Iron

FI-WP-0948 | FI-WP-0947
< =)

FI-RK-3827
(=)

www.moogparts.com




